University of Wollongong
Research Online

Faculty of Engineering and Information
Faculty of Engineering and Information
Sciences - Papers: Part A
Sciences

1-1-2012

## Horadam functions and powers of irrationals

Martin W. Bunder<br>University of Wollongong, mbunder@uow.edu.au

Follow this and additional works at: https://ro.uow.edu.au/eispapers
Part of the Engineering Commons, and the Science and Technology Studies Commons

## Recommended Citation

Bunder, Martin W., "Horadam functions and powers of irrationals" (2012). Faculty of Engineering and Information Sciences - Papers: Part A. 167.
https://ro.uow.edu.au/eispapers/167

Research Online is the open access institutional repository for the University of Wollongong. For further information contact the UOW Library: research-pubs@uow.edu.au

## Horadam functions and powers of irrationals


#### Abstract

This paper generalizes a result of Gerdemann to show (with slight variations in some special cases) that, for any real number $m$ and Horadam function $\mathrm{Hn}(\mathrm{A}, \mathrm{B}, \mathrm{P}, \mathrm{Q}), \mathrm{mHn}(\mathrm{A}, \mathrm{B}, \mathrm{P}, \mathrm{Q})=\mathrm{i}=\mathrm{h} \mathrm{k}(\mathrm{t}, \mathrm{Hn}+\mathrm{i}(\mathrm{A}, \mathrm{B}, \mathrm{P}, \mathrm{Q}))$, for two consecutive values of $n$, if and only if, $m=i=h k \sum$ (tiai) $=i=h k \sum$ ( $t$ ibi) where $a=(P+(P 2-4 Q) 1 / 2) / 2$ and $b$ $=(P-(P 2-4 Q) 1 / 2) / 2$. (Horadam functions are defined by: $H 0(A, B, P, Q)=A, H 1(A, B, P, Q)=B, H n+1(A, B, P, Q)$ $=P H n(A, B, P, Q)-Q H n-1(A, B, P, Q)$.$) Further generalizations to the solutions of arbitrary linear recurrence$ relations are also considered.


## Keywords

functions, powers, horadam, irrationals

## Disciplines

Engineering | Science and Technology Studies

## Publication Details

Bunder, M. W. (2012). Horadam functions and powers of irrationals. Fibonacci Quarterly, 50 (4), 304-312

# HORADAM FUNCTIONS AND POWERS OF IRRATIONALS 

MARTIN W. BUNDER

Abstract. This paper generalises a result of Gerdemann to show (with slight variations in some special cases) that, for any real number m and Horadam function $H_{n}(A, B, P, Q)$,

$$
m H_{n}(A, B, P, Q)=\sum_{i=h}^{k} t_{i} H_{n+i}(A, B, P, Q),
$$

for two consecutive values of $n$, if and only if,

$$
m=\sum_{i=h}^{k} t_{i} a^{i}=\sum_{i=h}^{k} t_{i} b^{i}
$$

where $a=\frac{P+\sqrt{P^{2}-4 Q}}{2}$ and $b=\frac{P-\sqrt{P^{2}-4 Q}}{2}$.
(Horadam functions are defined by: $H_{0}(A, B, P, Q)=A, \quad H_{1}(A, B, P, Q)=B$,
$H_{n+1}(A, B, P, Q)=P H_{n}(A, B, P, Q)-Q H_{n-1}(A, B, P, Q)$.
Further generalizations to the solutions of arbitrary linear recurrence relations are also considered.

## 1. Introduction and notation

Horadam functions were first studied by Horadam in [6] and [7]. They can be defined by:
Definition 1.1. $\quad H_{0}(A, B, P, Q)=A, \quad H_{1}(A, B, P, Q)=B$, $H_{n+1}(A, B, P, Q)=P H_{n}(A, B, P, Q)-Q H_{n-1}(A, B, P, Q)$.

Special cases include the Lucas functions $U_{n}(P, Q)=H_{n}(0,1, P, Q)$ and $V_{n}(P, Q)=H_{n}(2,1, P, Q)$, the Pell polynomials $P_{n}(x)=U_{n}(2 x,-1)$, the modified Pell polynomials $q_{n}(x)=H_{n}(1, x, 2 x,-1)$ and $q_{n}^{*}(x)=H_{n}(1,1,2 x,-1)$ as well as the Pell numbers $U_{n}(1,-2)$, the Lucas numbers $V_{n}(1,-1)$, the Jacobstahl numbers $U_{n}(1,-2)$ and, of course, the Fibonacci numbers $F_{n}=$ $U_{n}(1,-1)$.

Often $H_{n}(A, B, P, Q)$ will be abbreviated to $H_{n}$ and $U_{n}(P, Q)$ to $U_{n}$.
There are 84 pages on Horadam functions in OEIS, however most of the functions mentioned specifically have $H_{n}=U_{n}$ or $U_{n+1}$. Two exceptions are $H_{n}(1,3,-1,1)$ (A048739) and $H_{n}(1,4,2,-1)(\mathrm{A} 048654)$.

Usually $A, B, P$ and $Q$ are taken to be integers. Lehmer in [8] does allow $P$ to be the square root of an integer. In most of this paper $A, B, P$ and $Q$ can be arbitrary complex numbers.

Two important functions of $P$ and $Q$, which appear in the explicit forms of $H_{n}$ and $U_{n}$ are now defined.

Definition 1.2. $a(P, Q)$ and $b(P, Q)$ are the roots of the equation $x^{2}-P x+Q=0$.
These will usually be written as $a$ and $b$.
If $P^{2}-4 Q$ is real and positive these can be written as:
$a=\frac{P+\sqrt{P^{2}-4 Q}}{2}, \quad b=\frac{P-\sqrt{P^{2}-4 Q}}{2}$.

## 2. Some properties of Horadam functions

We now list some known results. These are as in Horadam [6], except that he only gives some special cases of (ii).
Theorem 2.1. (i) If $n \geq 0$ and $P^{2} \neq 4 Q, \quad H_{n}=\left(\frac{B-A b}{a-b}\right) a^{n}+\left(\frac{B-A a}{b-a}\right) b^{n}$.
(ii) If $n \geq 0, \quad H_{n}\left(A, B, P, P^{2} / 4\right)=n B(P / 2)^{n-1}-(n-1) A(P / 2)^{n}$.
(iii) If $n \geq 0$ and $P^{2} \neq 4 Q, U_{n}=\frac{a^{n}-b^{n}}{a-b}$.
(iv) If $n \geq 0, \quad U_{n}\left(P, P^{2} / 4\right)=n(P / 2)^{n-1}$.

We also list some obvious special cases.
Corollary 2.2. (i) If $P^{2} \neq 4 Q, B=A b$ and $n \geq 0, H_{n}=A b^{n}$.
(ii) If $P^{2} \neq 4 Q, B=A a$ and $n \geq 0, H_{n}=A a^{n}$.
(iii) If $B=(P / 2) A, P^{2}=4 Q$ and $n \geq 0, \quad H_{n}=A(P / 2)^{n}=A a^{n}=A b^{n}$.
(iv) If $P=0$ and $n \geq 0, \quad H_{2 n}=(-Q)^{n} A$ and $H_{2 n+1}=(-Q)^{n} B$.
(v) If $P \neq 0, Q=0$ and $n>0, \quad H_{n}=B P^{n-1}$.
(vi) If $P=Q=0$ and $n>1, H_{n}=0$.

The next theorem relates Horadam functions to Lucas and other Horadam functions. The $\mathrm{q}=0$ case of (i) also appears in Horadam [6].

Theorem 2.3. (i) If $n>q \geq 0, \quad H_{n}=U_{q+1} H_{n-q}-Q U_{q} H_{n-q-1}$.
(ii) $H_{n}(A, B, P, Q)=H_{n-1}(B, B P-A Q, P, Q)=H_{n-i}\left(H_{i}(A, B, P, Q), H_{i+1}(A, B, P, Q), P, Q\right)$.
(iii) $H_{n}(A, A P, P, Q)=A U_{n+1}(P, Q)$.
(iv) $k H_{n}(A, B, P, Q)=H_{n}(k A, k B, P, Q)$.
(v) $k^{n} H_{n}(A, B, P, Q)=H_{n}\left(A, k B, k P, k^{2} Q\right)$.

Proof. (i) By induction on q.
If $q=0, \quad H_{n}=1 . H_{n}-Q .0 . H_{n-1}$.
If the result holds for q, then
$H_{n}=U_{q+1}\left(P H_{n-q-1}-Q H_{n-q-2}\right)-Q U_{q} H_{n-q-1}=U_{q+2} H_{n-q-1}-Q U_{q+1} H_{n-q-2}$.
So the result holds for all $n>q \geq 0$.
(ii) By the recurrence relation for $U_{n}$ and (i),

$$
\begin{aligned}
H_{n}(A, B, P, Q) & =(B P-A Q) U_{n-1}-B Q U_{n-2} \\
& =H_{n-1}\left(H_{1}, H_{2}, P, Q\right) \\
& =H_{n-2} \cdot\left(H_{2}, H_{3}, P, Q\right) \\
& =\cdots \\
& =H_{n-i}\left(H_{i}, H_{i+1}, P, Q\right) .
\end{aligned}
$$

(iii) By (i).
(iv) By Theorem 2.1(i) and (ii).
(v)

$$
\begin{aligned}
k a(P, Q) & =\frac{k P+\sqrt{(k P)^{2}-4 k^{2} Q}}{2} \\
& =a\left(k P, k^{2} Q\right) .
\end{aligned}
$$

Similarly $k b(P, Q)=b\left(k P, k^{2} Q\right)$. So if $P^{2} \neq 4 Q$,

$$
\begin{aligned}
H_{n}\left(A, k B, k P, k^{2} Q\right)= & \left(\frac{k B-A k b(P, Q)}{k(a(P, Q)-b(P, Q))}\right) k^{n} a^{n}(P, Q) \\
& \left.\quad-\left(\frac{k B-A k a(P, Q)}{k(b(P, Q)-a(P, Q)}\right) k^{n} b^{n}(P, Q)\right) \\
= & k^{n} H_{n}(A, B, P, Q) . \\
H_{n}\left(A, k B, k P, k^{2} P^{2} / 4\right)= & n B k^{n}(P / 2)^{n-1}-(n-1) A k^{n}(P / 2)^{n} \\
= & k^{n} H_{n}\left(A, B, P, P^{2} / 4\right) .
\end{aligned}
$$

The recurrence relation for $F_{n}$ can be used to define $F_{n}$ for $n<0$. We will do the same for $H_{n}$ when this is possible.
Theorem 2.4. $H_{n}(A, B, P, Q)$ can be consistently defined for $n<0$ using the recurrence relation iff
(i) $Q \neq 0$, as in Theorem 2.1(i) or (ii), where also,
$H_{-n}(A, B, P, Q)=Q^{-n} H_{n}(A, P A-B, P, Q)=H_{n}\left(A, \frac{P A-B}{Q}, P / Q, 1 / Q\right)$.
(ii) $Q=0, B=P A$; if $P \neq 0$ by $H_{n}=P^{n} A$, if $P=A=0$ by $H_{n}=0$.

Proof. (i) If $Q \neq 0$, as $P=a+b$ and $Q=a b$, the recurrence relation gives, if $P^{2} \neq 4 Q$,

$$
H_{n-1}=\frac{H_{n+1}-(a+b) H_{n}}{-a b}=\left(\frac{B-A b}{a-b}\right) a^{n-1}+\left(\frac{B-A a}{b-a}\right) b^{n-1},
$$

so, given $H_{n}$ and $H_{n+1}, H_{m}$ can be defined for all $m<n$, with the explicit expression of Theorem 2.1(i).

By Theorem 2.3(v) and Theorem 2.1(i),

$$
\begin{aligned}
Q^{-n} H_{n}(A, P A-B, P, Q) & =\left(\frac{P A-B-A b}{a-b}\right) b^{-n}+\left(\frac{P A-B-A a}{b-a}\right) a^{-n} \\
& =\left(\frac{B-A b}{a-b}\right) a^{-n}+\left(\frac{B-A a}{b-a}\right) b^{-n} \\
& =H_{-n}(A, B, P, Q)
\end{aligned}
$$

If $P^{2}=4 Q \neq 0, a=b=P / 2$ then, by the recurrence relation,

$$
\begin{aligned}
& H_{n-1}=2 n B(P / 2)^{n-2}-2(n-1) A(P / 2)^{n-1}-(n+1) B(P / 2)^{n-2}+n A(P / 2)^{n-1} \\
&=(n-1) B(P / 2)^{n-2}-(n-2) A(P / 2)^{n-1},
\end{aligned}
$$

so $H_{m}$ can be defined for $m<n$, with the explicit representation of Theorem 2.1(ii).

$$
\begin{aligned}
Q^{-n} H_{n}\left(A, P A-B, P, P^{2} / 4\right) & =(P / 2)^{-2 n}\left(n(P A-B)(P / 2)^{n-1}-(n-1) A(P / 2)^{n}\right) \\
& =-n B(P / 2)^{-n-1}+(n+1) A(P / 2)^{-n} \\
& =H_{-n}(A, B, P, Q)
\end{aligned}
$$

By Theorem 2.3(v), $H_{n}(A,(P A-B) / Q, P / Q, 1 / Q)=Q^{-n} H_{n}(A, P A-B, P, Q)$.
(ii) If $Q=0$ and $H_{n}$ is to be defined for $n<0$ by the recurrence relation, we must have $B=H_{1}=P H_{0}-0 H_{-1}=P A$.

If $P \neq 0, H_{0}=P H_{-1}-0 H_{-2}$ gives $H_{-1}=P^{-1} A$. Similarly, for any $n<0, H_{n}=P^{n} A$.

If $\mathrm{P}=0, H_{-i}=A=P H_{-i-1}-0 H_{-i-2}=0$, for $i \geq 0$, so $A=B=0$ and $H_{n}=0$ for $n<0$.

Horadam [6] also has the $P^{2}>4 Q$ and $+\infty$ cases of the following, but gets different results!
Theorem 2.5. If $P$ and $Q$ are real,
(i) $P^{2}>4 Q$ and
(a) $P>0, \quad \lim _{n \rightarrow \infty} \frac{H_{n+1}}{H_{n}}=a$,
and if $Q \neq 0$ and either $A \neq 0$ or $B \neq 0, \quad \lim _{n \rightarrow-\infty} \frac{H_{n+1}}{H_{n}}=b$.
(b) $P<0, \quad \lim _{n \rightarrow \infty} \frac{H_{n+1}}{H_{n}}=b$,
and if $Q \neq 0$ and either $A \neq 0$ or $B \neq 0, \lim _{n \rightarrow-\infty} \frac{H_{n+1}}{H_{n}}=a$.
(ii) If $P^{2}=Q>0, \lim _{n \rightarrow+ \pm \infty} \frac{H_{n+1}}{H_{n}}=P / 2=a=b$.
(iii) If $P=0, \quad \frac{H_{2 n+1}}{H_{2 n}}=\frac{B}{A}$ and $\frac{H_{2 n+2}}{H_{2 n+1}}=\frac{-Q A}{B}$.

Proof. (i) If $P^{2}>4 Q$,

$$
\frac{H_{n+1}}{H_{n}}=\frac{\left(\frac{B-A b}{a-b}\right) a^{n+1}+\left(\frac{B-A a}{b-a}\right) b^{n+1}}{\left(\frac{B-A b}{a-b}\right) a^{n}+\left(\frac{B-A a}{b-a}\right) b^{n}}
$$

(a) So if $P>0,|a|>|b|$ and $\lim _{n \rightarrow \infty} \frac{H_{n+1}}{H_{n}}=a$, and, provided $H_{n}$ for $n<0$ is defined and not identically 0 , i.e $Q \neq 0$ and either $A \neq 0$ or $B \neq 0, \lim _{n \rightarrow-\infty} \frac{H_{n+1}}{H_{n}}=b$.
(b) If $P<0,|b|>|a|$ and $\lim _{n \rightarrow \infty} \frac{H_{n+1}}{H_{n}}=b$, and, provided $H_{n}$ for $n<0$ is defined and not identically 0 , i.e. $Q \neq 0$ and either $A \neq 0$ or $B \neq 0, \lim _{n \rightarrow-\infty} \frac{H_{n+1}}{H_{n}}=a$.
(ii) If $P^{2}=4 Q$,

$$
\frac{H_{n+1}}{H_{n}}=\frac{(n+1) B(P / 2)^{n}-n A(P / 2)^{n+1}}{n B(P / 2)^{n-1}-(n-1) A(P / 2)^{n}}=\frac{(n+1) B P / 2-n A(P / 2)^{2}}{n B-(n-1) A P / 2}
$$

So $\lim _{n \rightarrow \infty} \frac{H_{n+1}}{H_{n}}=P / 2$.
(iii) By Corollary 2.2(iv).

Note that Horadam [6] has, for $P^{2}>4 Q$ :
$\lim _{n \rightarrow \infty} \frac{H_{n+1}}{H_{n}}=a$, if $-1 \leq b \leq 1$, which is equivalent to $-P-1 \leq Q$ and either $P<2$ or $P \geq 2$ and $Q \leq P-1$,
and
$\lim _{n \rightarrow \infty} \frac{H_{n+1}}{H_{n}}=b$, if $-1 \leq a \leq 1$, which is equivalent to $P-1 \leq Q$ and either $P>-2$ or $Q \leq-P-1$ and $P \leq-2$.

We can have both conditions holding, for example if $P=1$ and $Q=0, a=1$ and $b=0$, or neither, for example when $P=3$ and $Q=-5, a=\frac{3+\sqrt{2} 9}{2}, b=\frac{3-\sqrt{2} 9}{2}$.

The following theorem is needed later.
Theorem 2.6. (i) $H_{n}-b H_{n-1}=(B-A b) a^{n-1}$.
(ii) $H_{n}-a H_{n-1}=(B-A a) b^{n-1}$.

Proof. (i) If $P^{2} \neq 4 Q, H_{n}-b H_{n-1}=\left(\frac{B-A b}{a-b}\right) a^{n}+\left(\frac{B-A b}{b-a}\right) a^{n-1} b=(B-A b) a^{n-1}$. If $P^{2}=4 Q, \quad a=b=P / 2$ and
$H_{n}-b H_{n-1}=n B(P / 2)^{n-1}-(n-1) A(P / 2)^{n}-(n-1) B(P / 2)^{n-1}+(n-2) A(P / 2)^{n}=(B-A b) a^{n-1}$.
(ii) Similar.

## 3. Generalising Gerdemann

Gerdemann's Theorem 1.1 of [3] is a special case of:
Theorem 3.1. (i) If $P, B \neq 0$ and $B=A a$,

$$
\begin{equation*}
m H_{n}=\sum_{i=h}^{k} t_{i} H_{n+i} \tag{3.1}
\end{equation*}
$$

for any one value of $n$, iff

$$
\begin{equation*}
m=\sum_{i=h}^{k} t_{i} a^{i} . \tag{3.2}
\end{equation*}
$$

(ii) If $P, B \neq 0$ and $B=A b$, (3.1) for any one value of $n$, iff

$$
\begin{equation*}
m=\sum_{i=h}^{k} t_{i} b^{i} \tag{3.3}
\end{equation*}
$$

(iii) If $P, B \neq 0$ and $Q=0, a=P$ and $b=0$ or $b=P$ and $a=0$ and (3.1) for any one value of $n$, iff (3.2) if $a=P$ and (3.3) if $b=P$.
(iv) If $P, Q \neq 0$ and (3.1) holds for any two values of $n$ then (3.2) and (3.3) hold.
(v) If $P, Q \neq 0, P^{2}-4 Q \neq 0$ or $B=A P / 2$, and (3.2) and (3.3) hold then (3.1) holds.

Proof. (i) If $P, B \neq 0$ and $B=A a, a \neq 0$. If $P^{2} \neq 4 Q$, by Corollary 2.2(ii) and Therem 2.4(i) and if $P^{2}=4 Q$ (as then $a=b$ ) by Corollary 2.2(iii) and Theorem 2.4(ii), $H_{r}=A a^{r}$ whenever $H_{r}$ is defined. Clearly (3.1) iff (3.2).
(ii) As for (i) with $H_{r}=A b^{r}$.
(iii) If $P \neq 0$ and $Q=0, a=P$ and $b=0$ or $a=0$ or $b=P$, so by Corollary 2.2(v) and Theorem 2.4(ii), $H_{r}=A P^{r-1}$. So (3.1) holds iff (3.2) iff $a=P$ and $b=0$ or iff (3.3) if $b=P$ and $a=0$.
(iv) Assume that (3.1) holds for a particular $n$ and also for some $q<n$. Applying Theorem 2.3(i) to (3.1) gives

$$
\begin{equation*}
U_{n-q} m H_{q+1}-Q U_{n-q+1} m H_{q}=\sum_{i=h}^{k} j_{i}\left(U_{n-q} H_{q+i+1}-Q U_{n-q+1} H_{q+i}\right) \tag{3.4}
\end{equation*}
$$

Adding $Q U_{n-q+1}$ times, (3.1), with $q$ for $n$, to this and dividing by $U_{n-q}$ (which is not 0 by Theorems 1(iii) and (iv)), gives (3.1) with $q+1$ for $n$. Similarly (3.1) can be derived whenever all the Horadam functions appearing in it are definable. In particular we have (3.1) with $n-1$
for $n$. and so, by Theorem 2.6(i), as $a \neq 0$, (3.2) holds. Similarly by Theorem 2.6(ii), as $b \neq 0$, (3.3) holds.
(v) If If $P, Q, P^{2}-4 Q \neq 0$, this follows by Theorem 2.1(i) and Theorem 2.4(i). If $P, Q \neq$ $0, P^{2}=4 Q$ and $B=(A P) / 2$, it follows by Corollary 2.2(iii) and Theorem 2.4(i).

If any of the conditions in the parts of Theorem 3.1 fail, we show that the results will usually fail.

If $B=0, H_{1}$ can be added to the right of (3.1), but the corresponding $a^{1-n}$ or $b^{1-n}$ cannot be added to the right of (3.2) or (3.3). Also with $h=k=1-n$ and $t_{1-n}=a$, (3.2) is $m=a a^{1-n}$, while $a^{2-n} H_{n} \neq a H_{1}$

If $P=0, a=\sqrt{-Q}=-b$, by Corollary 2.2(iv), (3.1) can be $B H_{2 n}=A H_{2 n+1}$. (3.2) and (3.3) fail as $B$ need not equal $\pm A \sqrt{-Q}$. Also if $-Q=\sqrt{-Q} a$ is (3.2) and (3.3) is $Q=\sqrt{-Q} b$, (3.1) fails as $-Q H_{n} \neq \pm \sqrt{-Q} H_{n+1}$.

Now we give some more specific examples.

## Examples

1. If $P=5, Q=6, a=3, b=2$. So if $B=b A \neq a A$ and $H_{n}=A 2^{n}$,
$14 H_{n}=\sum_{i=1}^{3} H_{n+i}$, while $14=\sum_{i=1}^{3} 2^{i}$, but $\sum_{i=1}^{3} 3^{i}=39 \neq 14$.
2. If $P=1, Q=-1, a=\frac{1+\sqrt{5}}{2}, b=\frac{1-\sqrt{5}}{2}$, so if $B=b A \neq a A, H_{n}=A b^{n}, 2 H_{n}=$ $H_{n+1}+H_{n-2}$, and $2=a+a^{-2}=b+b^{-2}$.
3. If $P=Q=4, A=1$ and $B=3, P^{2}=4 Q, a=b=2$ so $B \neq a P / 2$. We have $3 H_{2}=H_{3}+H_{1}+H_{0}=24$, as (2.1) while (3.2) and (3.3) fail as $3 \neq 2+2^{-1}+2^{-2}$. Also (3.2) and (3.3) can hold as $4=2+2.2^{-1}+4.2^{-2}$ while (3.1) fails as $4=4 H_{0} \neq H_{1}+2 H_{-1}+4 H_{-2}=31 / 2$.
4. If $P=2 i, Q=3 \frac{1}{2}, a=\left(\frac{2+3 \sqrt{2}}{2}\right) i, b=\left(\frac{2-3 \sqrt{2}}{2}\right) i$. $7 \frac{1}{2} H_{n}=-H_{n+2}-7 i H_{n-1}$ and $7 \frac{1}{2}=-a^{2}-7 i a^{-1}=-b^{2}-7 i b^{-1}$.

Gerdemann's version of Theorem 3.1 was as follows:

$$
\begin{equation*}
m F_{n}=\sum_{i=h}^{k} F_{n+c_{i}}<=>m=\sum_{i=h}^{k} \tau^{c_{i}} \tag{3.5}
\end{equation*}
$$

where $\tau=\frac{1+\sqrt{5}}{2}$.
Gerdemann also showed that, for any integer m , integers $h, k$ and $c_{h}, \ldots, c_{k}$, independent of n , can be found so that the left of this equivalence holds. Hence any positive integer m can be expressed as a sum of powers of $\tau$.

## 4. Further Generalization

The anonymous referee suggested that the result could perhaps be generalized to higher order linear recurrences such as:

$$
\begin{equation*}
G_{n}=\sum_{i=n-s}^{n-1} q_{n-i} G_{i} \tag{4.1}
\end{equation*}
$$

where $G_{i}=A_{i}$ for $0 \leq i<s$.
Grabner, Tichy, Nemes and Petho [4], in fact, do just that, in the special case where $G_{n}$ is a Pisot recurrence. This requires: $G_{0}=0, G_{k}=q_{1} G_{k-1}+\ldots q_{k} G_{0}+1$ for $1 \leq k<s$ and $q_{1} \geq q_{2} \ldots \geq q_{s}$.

Their Lemma 1.1 states that if $G_{n}$ is a Pisot recurrence,

$$
\begin{equation*}
m G_{n}=\sum_{i=h}^{k} j_{i} G_{n+i} \tag{4.2}
\end{equation*}
$$

iff

$$
\begin{equation*}
m=\sum_{i=h}^{k} j_{i} x^{i} \tag{4.3}
\end{equation*}
$$

where $x$ is the dominating root of the equation:

$$
\begin{equation*}
x^{s}=q_{1} x^{s-1}+\ldots q_{s-1} x+q_{s} . \tag{4.4}
\end{equation*}
$$

Without $G_{n}$ being a Pisot recurrence, we can prove the following generalization of Theorem 3.1(iv) and (v):

Theorem 4.1. (i) If (4.2) is obtained by the recurrence relation (4.1), and $x$ is any root of (4.4), (4.3) holds.
(ii) If the solutions $x$ of (4.4) are all distinct and (4.3) holds for all of them, (4.2) holds.

Proof. (i) By induction on the number $p$ of uses of (4.1) in the proof of (4.2).
If $p=0, h=k=0$ and $j_{0}=m$, so (4.3) holds. If (4.2) is obtained by $p$ uses of (4.1) and (4.3) holds and one further use of the recurrence relation, in the form

$$
G_{n+r}=\sum_{i=n+r-s}^{n+r-1} q_{n+r-i} G_{i}
$$

is used, the corresponding version of (4.3) is true as the corresponding change requires

$$
x^{n+r}=q_{1} x^{n+r-1}+\ldots q_{s-1} x^{n+r+1-s}+q_{s} x^{n+r-s} .
$$

(ii) If (4.3) holds for all solutions $x_{1}, \ldots, x_{s}$ of (4.4) and these solutions are distinct,

$$
\begin{equation*}
G_{n}=k_{1} x_{1}^{n}+k_{2} x_{2}^{n}+\ldots+k_{s} x_{s}^{n} \tag{4.5}
\end{equation*}
$$

where $k_{1}, \ldots, k_{s}$ are functions of only $G_{0}, \ldots, G_{s-1}, q_{1}, \ldots q_{s}$. Then

$$
m G_{n}=\sum_{i=h}^{k} j_{i}\left(k_{1} x_{1}^{i+n}+\ldots+k_{s} x_{s}^{i+n}\right)
$$

which is (4.2).
We could also prove counterparts to Theorem 3.1(i),(ii) and (iii) (where not only (4.1) is used in the derivation of (4.2)), in the case where all the $k_{i}$ in (4.5), except one, are zero. In view of the examples in Section 3, it is unlikely that much more can be proved, particularly when the roots of (4.4) are not all distinct.

There is a lot of literature on expressing integers as sums of (generalised) Horadam functions or powers of rational or irrational numbers, for example Fraenkel [2], Ambroz, Frougny, Masakova and Pelantova [1] and Hamlin and Webb [5], but only Gerdemann [3] and Grabner,, Tichy, Nemes and Petho [4] have results such as those in Theorems 3.1 and 4.1. The referee provided (4.2) for $m=1$ to 100 , for Padovan numbers $P_{n}=G_{n}$, as defined above, with $s=3$, $q_{1}=0, q_{2}=q_{3}=A_{0}=A_{1}=A_{2}=1$.

## References

[1] P.Ambroz, C.Frougny, Z.Masakova, E.Pelantova, Arithmetics on number systems with irrational bases, Bulletin Belgian Mathematical Society Simon Stevin, 10 (2003), 641-659.
[2] A. S. Fraenkel, Systems of numeration, American Mathematical Monthly, 92,no 2, (1985), 105-114.
[3] D. Gerdemann, Combinatorial proof of Zeckendorf family identities, The Fibonacci Quarterly 46/47, no 3, (2008/2009), 349-260.
[4] P.J.Grabner, R.F,Tichy, I.Nemes, A.Petho, Generalized Zeckendorf expansions, Applied Mathematics etters, 7, no 2, (1994), 25-28.
[5] N.Hamlin, W.A.Webb, Representing positive integers as a sum of linear recurrence sequences, The Fibonacci Quarterly, 50, no 2, (2012), 99-105.
[6] A.F. Horadam, Basic Properties of a certain generalised sequence of numbers, The Fibonacci Quarterly Oct, (1965), 161-175.
[7] A.F. Horadam, Special properties of the sequence $w_{n}(a, b ; p, q)$, The Fibonacci Quarterly Dec, (1967), 424-434.
[8] D.H. Lehmer, An extended theory of Lucas functions, Annals of Mathematics, Second Series 31, no 3, (1930), 419-448.

MSC2010: 11B39
School of Mathematics and Applied Statistics, University of Wollongong, New South Wales, 2522, Australia

E-mail address: mbunder@uow.edu.au

